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 For the question below, find the sentence which is closest in meaning to the given one.  

 

Although engineers must make use of technology and innovations, these alone are not enough to pass 

engineering information. 

 

A)  Technology and innovation is essential for engineers. However, there is still more in order to transmit 

engineering information. 

B)  Engineering professionals advise to benefit from technology and advances so that they can pass on their 

engineering information. 

C)  Whatever technology or innovation engineers use, transformation of the engineering information they possess 

can never be passed through.  

D)  Almost all engineers have been interested in technology and advances in their fields, but they are generally bad 

at expressing their engineering information.   

 

ANSWER: A  

 

 

 

 

 

www.ingilizce-kursu.gen.tr

http://www.ingilizce-kursu.gen.tr



